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QUESTION 1

Which of the following BEST describes the main function of a web server?

A. Storing files and controlling user access

B. Setting up personal mailboxes and calendars

C. Providing IP addresses and printing services

D. Hosting home pages and business portals

Correct Answer: D

A web server is a software application that serves HTTP (Hypertext Transfer Protocol) requests by delivering web pages
and other files to users\\' web browsers. The main function of a web server is to host home pages and business portals,

making them accessible to users via the internet. References: CompTIA A+ Certification Exam Objectives 220-1001 -
Networking - 1.6

QUESTION 2

A customer contacts the help disk stating a laptop does not remain charged for more than 30 minutes and will not
charge more than 15%. Which of the following components are the MOST likely causes the issue? (Select three.)

A. LCD power inverter
B. AC adapter

C. Battery

D. Processor

E. VGA card

F. Motherboard

G. Backlit keyboard
H. Wireless antenna

Correct Answer:. ACF

QUESTION 3

Which of the following utilizes TCP ports 20/21 and transfers data in cleartext?
A. SNMP

B. SSH

C.FTP
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D. Telnet

Correct Answer: C

FTP (File Transfer Protocol) uses TCP ports 20/21 and transfers data in cleartext, which means the data is not
encrypted and can be read by anyone who intercepts it. This makes FTP insecure for transferring sensitive information.
SSH (Secure Shell), on the other hand, uses port 22 and encrypts data, making it more secure. SNMP (Simple Network

Management Protocol) uses ports 161/162 and is used to monitor network devices. Telnet uses port 23 and transfers
data in cleartext, making it insecure. References: CompTIA A+ Certification Exam: Core 1 - Page 199

QUESTION 4

A desktop support technician is tasked with upgrading a laptop so that it has the fastest data access possible. Which of
the following BEST satisfies this requirement?

A. mSATASSD

B. M.2NVMeSSD
C. 2.5SATASSD
D. 2.5SASHHD
Correct Answer: B

M.2 NVMe SSD provides the fastest data access possible for a laptop. It is a high-performance solid-state drive that
connects directly to the motherboard through an M.2 slot.

QUESTION 5

A technician receives an alert indicating all VMs are down. After some troubleshooting, the technician discovers the
network is out of space. To resolve the issue, the technician decides to add more space. Which of the following network
types will the technician be working with?

A. SCSI

B. NAC

C. SAN

D. WISP

Correct Answer: C

A storage area network (SAN) is the type of network that the technician will be working with when adding more space to
resolve the issue of all VMs being down due to the network being out of space. A SAN is a network that provides access
to consolidated and block-level data storage, which can be used for virtualization and backup purposes. SCSI is a type
of interface that connects devices such as hard drives and optical drives to a computer. NAC is a type of security

solution that controls access to a network based on policies and device compliance. WISP is a type of internet service
provider that delivers wireless broadband access over long distances.
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